2 X 4x 6 must go here
because it has one of the
three smallest surface areas
and volumes.

1x 2x 24 must go here
because it has one of the
three smallest volumes and
isequal in surface area
with two other cuboids.

1 x 2 x 26 must go here
because it has one of the
three largest surface areas
and one of the three
smallest volumes

2 X 4 x 7 must go here
because it has one of the
three smallest surface areas
and isequal in volume
with two other cuboids

1x 4 x 14 must go here
because it has an equal
volume with two other
cuboids and an equal
surface areawith two other
cuboids.

1 x 2x 28 must go here
because it has one of the
three largest surface areas
and isequal in volume
with two other cuboids

4 x 4 x 4 must go here
because it has one of the
three largest volumes but
one of the three smallest

4 x 5x 6 must go here
because it has one of the
three largest volumes and
iIsequal in surface area

4 x 5x 7 must go here
because it has one of the
three largest surface areas
and one of the three largest
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